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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVI_ETel’,
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-3 0
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21t 4032.0 (14)%) 2100. 0 32 #KEC: 2080.0, PH: 5.7
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P3-3

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R
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P3-3

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

07:05 283 150.0 2.583 = {Ri%@07:05 B (RFAERSE)
07:50 283 150. 0 2.583 E| {Rig@07:50 Bzh (RE{ERSE)
08:30 283 150.0 2. 583 | 1Ri%e08:30 B (KAERSE)
09:15 283 150.0 2.583 =l RRiB009:15 B (RFAKEE)
10:15 283 150.0 2.583 =l RRiB010:15 Bzh (REAEEE)
11:00 283 150.0 2.583 5 {Ri%e11:00 B3 (RAERSE)
11:45 283 150.0 2.583 =l {Rige11:45 B3 (RAERSE)
12:25 283 150.0 2.583 =l RRiBe12:25 B (REAKESE)
13:05 283 150. 0 2.583 E| {Rig@13:05 Bzh (RE{ERSE)
13:40 283 150.0 2.583 F BRige13:40 Bz CGRAERESE)
14:20 283 150.0 2.583 =l RRiB014:20 Bz (REAKEE)
15:10 283 150. 0 2.583 El BRige15:10 Bz CGRAERESE)
16:05 283 150.0 2.583 5| {Ri%e16:05 Bz (FRAMERSE)
17:15 283 150.0 2.583 =l RRiBe17:15 Bz (REAKGEE)
H2it]3962.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 6.0

#H[EKECE (1887.0 vs 4307.0) d5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=73 (2025-06-10)

150 feee—fp————f——————f————Ff——————f——f————f
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing
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0.8 optEC0=2600. 0, setECB=2080.0 B
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Warning: lcol ['ECB’,| 'ECC’'] missing
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[ ] | _obs
1000 - —@— PPFD obs
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[ ] RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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15.

15.

15.
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15.

15.

15.

16.

16.

15.

15.

15.
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T
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T
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T
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m=730,m FV0=0
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T —o—

M_E
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m=445, FV0=0

15.0 A

14.8 4

14.6

14. 4

M_E

4%0 455
m=610,n FV0=0

T T
610 615 620

m=765,m FV0=0

16. 00 -

15. 95 A

15. 90 A

15. 85 ~

15. 80 A

15.75 A

—&— M_E

e

7%0 7%5
m=915,n FV0=0
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16. 2

16. 1 4

16. 0

15.9 4
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15.7 4
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915 920 925
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13.

15.

15.

15.

15.
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97 —o— ME
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23.
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95 -
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T T T
1040 1045 1050
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520 525 530
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0 -
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0 -
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23.
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21.5 -
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400 600 800 1000 445 450 455
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0 -
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0 -
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800 805 810
m=965,m FV0=0
0
—— MW
5 -
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m=1010, FV0O=0

—— MW
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P3-3

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

05:45 278 150.0 2.583 FA| 1BRi%@05:45 B3zh (KAEREEE)
07:15 278 150. 0 2.583 | =| {Ri&e07:15 Bz (REEZBE)
08:30 278 150. 0 2.583 |Z=&| 1BRi%e08:30 Bzl (RAEREE)
10:20 278 150.0 2.583 |Z=| {Ri&e10:20 Bz (REEBSE)
11:15 278 150.0 2.583 | =| {Rige11:15 Bz CGREAEZEBE)
12:25 278 150.0 2.583 |Z=| {Ri&e12:25 Bz (REEZEBE)
13:35 278 150.0 2.583 [/\ifi| {Ri%@13:35 Bz (RAEHSE)
14:25 278 150.0 2.583 FA| {Ri&@14:25 Bz (GGRAERE)
15:30 278 150.0 2.583 |Z=| {Ri&e15:30 Bz (REAEZEBE)
21t 2502.0 (97%) 1350.0 32903 %EC: 2080.0, PH: 6.0

#H[EKECE (1897.0 vs 4383.0) i d5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=72 (2025-06-09)

150 A

100 A

50

200 A

150 -

100 -

50 A

VI, VPRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2400

884 1969
1600 683

181

Warning: lcol [FVI',| "FVO’'] missing

b e e e e e e — — — — — — — — — — — — — — — — — —— — — — — — — — — — — — —— — — — — — —— — — — —— — — — ——— — ———— — ———— — ]

- 3000

- 2000
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o
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- 25

M_E

- 20
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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ByEt @72 19:08: ET=1666 Fg=1650. 0 Ro=nan
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FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=375, FV0=0 m=420, FV0=0 m=470, FV0=0

1471 o wE 5.5 o WE 15801 o ¢
14.6 1 15.4 -
15. 75 -
14.5 -
15.3 -
14.4 - 15. 70 -
15.2 -
14.3 -
15. 65 -
14.2 - 15.1 1
14.0 - = ME T 4] 15.0 15. 60 -
T T T T T T T T T T T T T
400 600 800 1000 375 380 385 420 425 430 470 475 480
m=585,m FV0=0 m=655,m FV0=0 m=695,m FV0=0 m=760,m FVO=0
15.81 o 5.84 o 4 15.9 o— we | 1627 o Wt
19-71 15.7 15.8
7 .81 16.0 -
15. 6 -
15.6 15.7 -
15.5 - 15.8 1
15.5 - 15.6 -
15. 4 -
15.6 -
15.3 15. 4 15.5
T T T T T T T T T T T T T T
585 590 595 655 660 665 695 700 705 762.5 765.0 767.5 770.0 772.5
m=835,m FV0=0 m=875,m FV0=0 m=920,m FV0=0 m=1000m FVO=0
1597 o WE 16.01 o WE 16.0 o— nel 00T o e
15. 8 1 15.9 - 15.9 -
15.9 -
15.7 -
15.8 - 15.8 -
15.6 15. 8
15.7 - 15.7 -
15.5 -
15.7 -
15 44 15.6 - 15.6 -
15.3 - 15.5 - 15.6 - 15.5 -
835 840 845 875 880 885 920 925 930 1000 1005 1010
m m=375,m FV0=0 m=420,m FV0=0 m=470,m FV0=0
257 204 —@— MW 2404 —@— MW 25.00 1 —o— MW
24 - 24.75
21.5 - 23.5 1
93 24.50 -
23.0 -
21.0 - i
2 24. 25
21 4 20.5 - 22.5 - 24. 00
—— M J
20 W 29 0 - 23.75
T T T T 20 0 T T T T T T T T T
400 600 800 1000 375 380 385 420 425 430 470 475 480



m=585, FV0=0 m=655, FV0=0
24.5 - —o— mw | %% —— MW
24.0 -
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23.5 -
23.5 -
23.0 -
23.0 -
T T T T T T
585 590 595 655 660 665
m=835,m FV0=0 m=875,m FV0=0
24.5
—o— MW —o— MW
24.0 -
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23.5 -
23.5 -
23.0 -
23.0 -
22.5
22.5 -
220 T T T T
835 840 845 875 880 885
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m=695, FV0=0
—— MW
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0_
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695 700 705
m=920,m FV0=0
5 - —— MW
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920 925 930

m=760, FV0=0

24.5 4 - MW
24.0 - ¢
23.5 A
23.0 -
22.5 A
T T T T T
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m=1000m FVO=0
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1
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P3-3

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:00 278 150.0 2. 583 | 1Ri%e07:00 B (KFAERSE)
07:35 278 150.0 2.583 = {Ri%@07:35 B (RFAERE)
08:10 278 150. 0 2.583 E| {Rig@08:10 Bah (RE{ERSE)
09:05 278 150.0 2. 583 5| 1Ri%e09:05 B (KEAERSE)
09:50 278 150.0 2.583 = {RRiB009:50 B (RFAEEE)
10:25 278 150.0 2.583 =l RRiB010:25 Bz (REAEEE)
11:00 278 150.0 2.583 5 {Ri%e11:00 B3 (RAERSE)
11:35 278 150.0 2.583 =l {Rige11:35 B3 (RAERSE)
12:10 278 150.0 2.583 Sl Rige12:10 B3 (RAERSE)
12:40 278 150. 0 2.583 E| {Rig012:40 B3h (GRE{ERSE)
13:10 278 150.0 2.583 E BRige13:10 Bz CGRAEREESE)
13:40 278 150.0 2.583 S| {Rig013:40 B3 (RAERSE)
14:15 278 150. 0 2.583 E BRige14:15 Bz CGRAERESE)
14:55 278 150.0 2.583 F BRige14:55 Bz CGRAERE)
15:40 278 150.0 2.583 = {Rig015:40 B3 (RAERSE)
16:30 278 150. 0 2.583 E BRige16:30 Bzl (GRAERERE)
21t 4448.0 (16)%) 2400. 0 3203 %EC: 2080.0, PH: 6.0

FHERECE (1927.0 vs 4220.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=71 (2025-06-08)

T e g g S g B S g g
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Warning: lcol [FVI',| "FVO’'] missing

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=935, FV0=0 m=995, FV0=0 m=390, FV0=0
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m=885, FV0=0
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